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’ Description Name

@ watchdog timers (default) INCLUDE WATCHDOGS

' & watchdog timers creation and deletion library (default) INCLUDE_WATCHDOG_CREATE_DELETE
& watchdog timer show routine INCLUDE WATCHDOGS SHOW
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* create a watchdog timer
* RETURNS: The ID for the watchdog created,
* or NULL if memory is insufficient.
xy
WDOG_ID wdCreate(void);

/*

* delete a watchdog timer

* This routine de-allocates a watchdog timer.

* The watchdog will be removed from the timer queue if it has been started
* RETURNS: OK, or ERROR if the watchdog timer cannot be de-allocated.

=Y

STATUS wdDelete (WDOG_ID wdId)
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/*
* initialize a watchdog timer
* This routine initializes a static watchdog or
* a watchdog embedded in a larger object.
* RETURNS: OK, or ERROR if the watchdog could not be initialized.
xy
STATUS wdInit (WDOG *pWdog) :

/*

terminate a watchdog timer

This routine terminates a watchdog timer.

The watchdog will be removed from the timer queue if it has been started
This routine differs from wdDelete() in that

associated memory is not de-allocated

RETURNS: OK, or ERROR if the watchdog cannot be terminated.

* o 4 F 3 F

*y
STATUS wdTerminate (WDOG_ID wdId);

)% WatchDog 2 J5, #trILLEshe |

/-k

* add a watchdog timer to the system tick queue

* RETURNS: OK, or ERROR if the watchdog timer cannot be started
vy
STATUS wdStart

(

WDOG ID wdId,

unsigned int delay,/* KF0 */
FUNCPTR pRoutine,

int parameter

)E

wdStart () 24 WatchDog A R4 Tick B TAEBAFIE . 24 wdld [
delay £5K 5, RGHTEHT ISR ¥t =1 pRoutine (parameter) . =
B delay HJEAT 2 R EBH) tick. ARG EF AT tick i, B LA
H sysClkRateGet () K315,
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usrRoot ()

{
é&éClkConnec:((FUNCPTR)usrClock, 0):
;..
usrClock()
-> tickAnnounce ()

-> windTickAnnounce ()
-> WDOG_ID->wdRoutine (WDOG ID->wdParameter)

B — B
#include <stdIo.h>
#include <wdLib.h>
#include <logLib.h>
WDOG_ID myWd=NULL;

void test ()

{
if (NULL == myWd)
{
myWd = wdCreate ()
}
wdStart (myWd, 60, logMsg, (int)"hello\n"):
}

> sp test

ask spawned: id Bx5969878,
alue = 93755584 Ax59698708
> interrupt: hello
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#include <stdIo.h>
#include <wdLib.h>
#include <logLib.h>
IMPORT int sysClkRateGet ():

WDOG_ID myWd=NULL;

c void wdISR(int para)

if (NULL == myWd)

{

myWd = wdCreate();

}
wdStart (myWd, sysClkRateGet (), (FUNCPTR)wdISR, "Hello;\n");
}

RIEEIR WatchDog TFAF 4538, XS 3 [A—4> WatchDog. IXHEmLSL
BT AR logMsg O HIThAE

> sp test
ask spawned: id
alue = 93755584

= Bx5969878, name = t1
> interrupt: hello

8x5969878 = ’'p’

interrupt: hello

interrupt: hello

interrupt: hello
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/*

* cancel a currently counting watchdog

* RETURNS: OK, or ERROR if the watchdog timer cannot be canceled
*

/
STATUS wdCancel (WDOG_ID wdId);

> sp test

ask spawned: id
alue = 93755584
> wdCancel myld
alue = B8 = Bx08

Ax5969878, name = t1

8x5969878 = 'p’

>

W RAFH wdStart O XA s [E—A WatchDog, MiAHE T K L&
B, EHEHITHEIR, Wl WatchDog IIAEA T

#include
#include
#include
#include
#include
#include

<stdIo.h>
<wdLib.h>
<logLib.h>
<sysLib.h>
<taskLib.h>
<rebootLib.h>

WDOG ID myWd;

tatic void doMyApp (int num)

{
askDelay(sysClkRateGet () * ((n
}

29 i OS\\D- r I’“l Ay Ly 21‘31 41 5) ;
t (BOOT NORMAL) ;

myWd = wdCreate ()
vhile (1)
{
wdStart (myWd, ClkRateGet

SYS X
(FUNCPTR) wdISR, (int
doMyApp (num) ;

}

um<1

) 21:num)) ;

() *10,
)"doMyApp is timeout\n"):
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K RN, REMSER. BN Shell BH#4T: sp

test, 20

"l PAFEF], VxWorks HJ WatchDog ELA#: ) WatchDog 88 RiE, KA
CHENE, A BEER, P LLE & GBS R AL EELH]

A show () 4>, A LLFE 3 WatchDog HIIRZS

> sp test, 20

ask spawned: id =

alue = 59687408
> show myWd

Vatchdog Id
tate

alue = 0 = 0x0
> show myWd

Vatchdog Id
tate

0x38ecl1f0, name = tl
0x38ecl1f0

- 0x1641da0
+ IN 'Q

. 466

: 0x415922
- 0xH86344

- 0x1641da0
< IN§

. 404

= Ox415922
- 0x586344
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#include <stdIo.h>
#include <wdLib.h>
#include <sysLib.h>
#include <semLib.h>

static WDOG ID myWd;
static SEM ID mySem;

static void doMyApp ()

{
printf ("hello\n");

}

static void wdISR(int para)
{

semGive (mySem) ;
wdStart (myWd, sysClkRateGet(), (FUNCPTR)wdISR, 0);
}

void test ()

{

myWd = wdCreate():

mySem = semBCreate (SEM Q PRIORITY, SEM EMPTY):
wdStart (myWd, sysClkRateGet(), (FUNCPTR)wdISR, 0);

while (1)

{
semTake (mySem, WAIT FOREVER) ;

doMyApp () 7
}

EANHFEH, myWd BRI — XG5 &, doMyApp O 5t AT CAREFD AT
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printf ()
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> sp test
ask spawnmed: id Hx5969878, name = t1
alue = 93755504 Ax5969878 = '

*» hello
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void testl ()

{

while (1)
{
doMyApp (Tb) ;
taskDelay(Ta):
}

}

WDOG_ID myWd;

static void wdISR(int para)
{
doMyApp (Tb)

1
void test2()
{
myWd = wdCreate():
wdStart (myWd, Ta, (FUNCPTR)wdISR, O0);
}
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WDOG ID myWd;
static void wdISR (int para)
{
wdStart (myWd, Ta, (FUNCPTR)wdISR, 0):
doMyApp (Tbh) ;
}
void test3()
{
myWd = wdCreate():
wdStart (myWd, Ta, (FUNCPTR)wdISR, 0);
1
WDOG_ ID myWd;
SEM ID mySem;
static void wdISR (int para)
{
semGive (mySem) ;
wdStart (myWd, Ta, (FUNCPTR)wdISR, 0);
}
void testd ()
{
myWd = wdCreate():
mySem = semBCreate (SEM Q FIFO, SEM EMPTY) :;
wdStart (myWd, Ta, (FUNCPTR)wdISR, 0):
while (1)
{
semTake (mySem, WAIT FOREVER) :;
doMyApp (Tb)
}
}




